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el Ald2ielSE 2tel CEREERD
2A - 33 - SRA(ZH) - HRAIY - BES Ol &kt &3 A HusSZ
309 HES 8,693,732 8,750,408 156,676
01 SAt- SHBHYTES 8,693,732 8,750,408 56,676
AN&zelse 3y MEs 8,693,732 8,750,408 56,676
NBHS X2 266, 148 278,142 A11,994
SEE ZAkZ 61,548 67,992 26,444
201 LBt2 3| 37,356 41,500 N4 144
03 A2 EH| 17,856 22,000 N4 144
G2 17,856 22,000 N4 144
303 Eal= 9,300 11,600 22,300
01 Za= 9,300 11,600 22,300
=R ENN o 500 2,000 21,500
NHZA FSS2E 2o 1,600 2,400 800
AlBINSHeIRIE 29 41,000 44,000 A3,000
201 LEH2SH 6,200 9,200 A3,000
01 At22telH| 5,000 8,000 A3,000
SEMEEIM AR 0 2,000 2,000
20t A2 =g 0 1,000 21,000
THONE =N 7,760 10,310 2,550
201 ZEH= | 4,860 7,410 A2,550
01 AlR-2teld 4,860 7,410 A2,550
DS RIEE 2 0 2,550 A2,550
-3 B4 € 0 2,400 A2,400
m=Ea N IEN 0 150 A150
JAEMNE 29 386,684 373,804 12,880
Al 356,684 343,804 12,880
£ 30,000 30,000 0
S8Xe jE2d 386,684 373,804 12,880
Al 356,684 343,804 12,880
£ 30,000 30,000 0
HEME 22 373,684 353,804 19,880
Al 343,684 323,804 19,880
s 30,000 30,000 0
201 ZEH=2 | 149,680 119,800 29,880
01 At22telH] 149,680 119,800 29,880
SZ0AR 2 OlAEA 1Y 46,080 28,800 17,280
NEEXZS &l X&E eI 34,200 21,600 12,600
301 LEENS 0 10,000 10,000
14 JIEt2a3 0 10,000 10,000
NLEEAY ANEHS 0 10,000 10,000
ANEEHAS K& 13,000 20,000 AT7,000
201 LEH2SH 8,000 10,000 2,000
01 At22telH| 8,000 10,000 2,000
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S - B8 - S9(30) - HRAY - BES IS ol o HlmE2
ANE2E 2= 24| 8,000 10,000 A2,000

202 Oibl 5,000 10,000 A5,000

01 SLHOIYI 5,000 10,000 25,000
ANE2E S 0| 5,000 10,000 25,000
MEEs 15,265,933 8,859,933 6,406,000
LHSRHeH K= 6,795,933 389,933 6,406,000
sSMIEDIZ 29 6,795,933 389,933 6,406,000
2 II38E3 6,406,000 0 6,406,000

01 JISNE3 6,406,000 0 6,406,000
SEMHHESD IS (B HESIAHIE 6,406,000 0 6,406,000

ollgly| 2,834,017 5,998,002 A3, 163,985
olglgl 2= 2,834,017 5,998,002 23,163,985
ollglgI2& 2,834,017 5,998,002 23,163,985

801 OilbIbl 2,834,017 5,998,002 23,163,985

01 LEHHIbIYI 2,164,767 3,998,002 1,833,235

oligigl 2,164,767 3,998,002 1,833,235

02 Mol - Ht=Hoidld] 669, 250 2,000,000 21,330,750

Ko, == olidldl 669, 250 2,000,000 21,330,750




